Efficiency vs P,

T
9
foe

o C
g C
2 07 e
5] C
c C
o 0.6
&) C
5 C
0.5
0.4F
0.3F
0.2
0.1~
° ¢.u£‘,: L .......! L .......! IR BT
8 F
hd | e - L e R
0.95F------+} : : 13 i N o R
0‘9: H N 1
— 3
10" 1 10 2
Hp_ (et
[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
ey
n
>
>
o
c
0
L2
=
(]

(O S AL
:'+ : : :
.9;.x.C:""!""!""!""!""!""
3 F ; ' 1L
x E e adiied M H4
0.95H £ ! ik
0ot .
=3 -2 -1 2 3

TP n

Efficiency vs ¢

s 0.8

o
3

efficiency vs

o
&)
I

o
fe)
IIII_
P
-
el
t —e—
h .
L
_HE_
e
oy bl

o
~
IIII‘I
e :
I il . asa

©
w
I




	Contents
	Page 1


